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My o bee/f <0.01 <0.01 <0.01

7 w ¥ me/ 2

TURIT M 2 T ome/ R <0.01 0.03 0.0

AR 2 % meg/ R

7l i A T

B OB R mg/ 0.044 0.0400 0.040
BlA B  S|mg/@ <0.02 0.0 0.02

% % £ uS/em 155 150 148

& Bl mg/ 17 g 14

WA F Yo/ 9.0 11.0 10.4
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2 # A X % Kk B ® £ &F R X

b/ I il Py FiEERRME W B O
A BGESHE—F) [ # ( 202-01
[AdiR] L - 1
H H 4725 4725 5/10| 5/10| &/ 2 /19| /19| 8/14} 8/14 9/ 1
£ PEHH $RACEEL | 11725 | 13:35 | 11220 | 13:30 } 11:50 11235 | 13:45 1 11:30 | 13140 13:35
S AN 14 By A L B [ ] L+ L [
g 8] C 22.8 28.00 23.8 25.0 25.0 23.9 24.0 31.9 29.0 27.2
kK gl C 13.9 16.4 16.0 17.9 8.5 16.9 17.0 22.9 22.0 23.8
4 0 - o1 o1l o1y onl 180 180 1800 180 001
-} - 001 001 o020 020 oIl ot o1 o 011
s % |m/s
E2 iV EITiL S - Fol | B D B BND | D fols | el | BD | O il
INEE:W: 5 cm >30.00 »30.00 >30.¢0 »30.0 24.0 >30.0 >30.0 >30.00 >30.0 >30.0)
| BREKEE m
£ k& m
o E m
FF XY Aimg/d (. 005 <0, 005 <0.003
¥ 7 M wld N.D. N.D. N.D.
H ;- ] Hiomg/ 0 .
8 wg/ £ <0.05 <0.05 <0.05
ZOL(GH) jme/R <0.02 <0.02 <0.02
I it e/ R <0.02 §. <0.02 <0.02
7ok ng/ <.0003 <.0005 <.0005
78 %8 KW ne/ 0 '
P c B| =g/ 2
P H - 8.4 83 80 84 7.8 7.4 7.4 8.2 7.9
& D O} mg/ 2 9.3 19 87 .84 3.9 9.2 8.9 8.1 8.1
# B 0 D|wmg/ 2 0.4 1.8 0.9 0.7 0.5 0.5 0.6 <0.3 <0.9 <0.5
HC 0 Dlm/g 2.4 3.4 3.1 3.0 3.0 2.8 2.8 24 2.0
# S S ng/ 0 g 8 94 1§ 13 4 U 6 10
T & BB B 2 B HPN/100wd 7.9E02 2.4E0F 2.3E03 2.3E03 2.2E03 3.3E03 3.3E03 5.4E04] 5.4€04 3.5E04
Bln-Hex ng/ £
£ T O Fm/L
2 84 ng/ 0
T J—E e/ f
i mg/ <0.01 <0.01 <0.01
HE 8 mg/ 0 <0.9] <0.01 <0.01
(@ B Yee/ R <0.} 0.90 <0.]
N (RN me/ 2 <0.05 <0.05 <0.05
O Neg/B <0.01 <0.01 <0.01
7 v FH oo/ L <0.15 <0.15 <0.15
AT R T me/
T EHTEE 2 B/ L
| B Btk 22 R mg/ R
B OR B ,
A B S|lm/p 0.04 0.70 | <0.04
X B B pS/om 120 1200 134 139 159 140 14§ 160 138
i Bl mg/ 9 <g 6 1 <5 <§
EEAA Y/ L 9.6 10.3 10.5 7.9 9.3
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A H KB’ Kk H D ERE R

b/ SC ) Nl poksizhot.. 31 T V1
el (AR i # i 4 ( 202-01 )
[ERA] : L : - 1
B B B8 |wajiosa|Aasfi/as |12 112/ 1) 1725 w2s| 2 2227 37 | 37
& BEEeE JREVEFS 10230 | 13135 | L1330 | 13:35 [ 12:00 | 13:50 | 11:30 | 13:30 | 11:30 | 13:35 | 11:45 13:45
x w| - [} | E| B L -4 LH [ 4 3 " 4
A iy T 2y 24 9849 s8d 88 99 1.4 30 1.0 2.0 10.0 13.5
— K 2l T 18.0 18.0 10.9 10.¢ 7.0 7.4 =20 40 1.8 2.8 7.0 8.0
4 H - 161 161 oonf o0oif o020 o020 06 060 osd 0800 osd 060
i & = - ot ouff- oig o1y ot ony ot onl o1y onl onl oin
"WE E | m/S . _ '
H | FREALEE . ol | Wl | Rl | Bb ] B ] Bl Bb| Bo | B B D sub
h% 5K em >30.0 >30.0° »30.6 »30.0 »>30.0 >30.0 »30.0 >36.00 >30.0y >30.00 »30.0 =>30.0
B| # $BHUkEE m
2k & m
H & E m
AF R MNng/d <01, 005 <. 005 <0.005
¥ 7 Ung/R N.D. N.D. ¥.D.
FOM Beg/l '
B & ng/ 0 |<0.05 <0.05 <0.05
FOL{GHE) twg/P <0.02 <0.02 <0.02
JE W % ng/ 0 <0.02 * <0.02 <0.02
2k Eeg/Q | <0009 <.0009 <.0008 .. o
Bl78%0k 8 ng/Q i
P C Blmng/ £ . .
P H - g.0 8d 74 74 79 1.9 71 14 7.4 1.8 1.4 . 7.9
|# D 0| mg/ 2 8.0 9.1 1 10 11 10 12 1 12 11 11 10
5 B 0 D|m@ 1.4 1 om 1. o8 o8 0.4 1.0 0.8 0.8 0.5 0.5
¢ 0 Dlmf 3.4 34 1.4 220 1.8 1.4 1.4 2d 1.8 21 1.4 1.8
B#'s S| me/ T
| A KW T B MPN/100d 1.3E04] 2.4E04 1.7E03 1.3£03 3.560% 3.5603 3.5£03 3.5603 3.5803 3.5603 5.4804 5.4F04
B n—Hex mg/ £ '
2 = X ome/ R
% 5 mg/ 2
Jx/—IEE | mg/ R
i mg/ <0.01 <0.01 <0.01
il £ me/ 0 <0.01 <0.01 0.0}
SR M Nme/L <0.1 <0.1 <0.1
WHY CHREEE) mg/ 0 <0.05 <0.05 <0.09
Wy o Amg/d <0.0} 0,01 <0.01
7y Hmes <0.19 <0.15 <0. 19
THRI? 2 F e D
IH BREE & ¥ ng/ 0
LR
e me/ 2
BA B Sm <0.02 0.0 0.0
" = uSiem g 12 129 129 139 137 149 164 54 188  i2d 122
bS] B wg/ P T <5 <5 <5 ~ <H <8
BELF g/ 6.8 8.5 11.5 11.7 12.4 8.
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A H A Xk B®H KHEMETRR S
K X P N bk 3is=gs o R T VR
A (R —F ) XK MY LE ki ( 209-09 )
[EELEAR ' L - ]
= H B 428 | s/24 | 6712 27| 816 913110718 | 11717 | 12219 | 1/22) 2715 | 3/16
s+ dEHE $RERE) { 10050 | 10:15 | 10:58 | 10:45 | 10:18 | 10:50 | 10:50 | 10:50 | 10:45.] 11:00 | 10:37{ 10:50

x Bl - L L s f » 3 ] 2 k- B £l B

= IE IR 10.§ 18.8 20.1 240 200 2.4 i1.] 9.8 o.d 2.8 10.0 i2.0
— 3k | C 1n.g . 14.3 18.d 2.0 2.8 23.0 124 11.d ¢4 1.9 0.5 6.0

& B - 180 184 083 062 181 - 162 184 063 053 064 062 237
R | - ot ol o1y o1y oy ony o1y oty o1 o1y o1l o1

) 5% 4 /S
W | R -

Ny % 3 BE cm
B| #5 BREUKEE m

2 K FE m’

HEWE | m 20 1.9 24 1.3 1.3 2d 24 a.d 4.0 2.3

b B I B A Y <0, 005 <0.00 <0,005 <0, 005 <0.005 <0.005
Yy 7 ¥eglp N.D. H.D. N.D. N.D. N.D. N.D.

H. OB Pag/f
23] #% wg/ R <0,05 <0.05 <0.05 <0.05 <0.05 <0.05

LG - mg/ 0 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02

Hit e/l | <0.02 <0.02 | <0.02 <0.02 <0.02 0,02 -

2§k mg/ <.000 - <.0005 <.0003 <.0005" </0005 <0004
Bl7 M %5k 88 ag/f

P C Blmg/

p H - g 9.2 8. i 9.7 97 824 1.4 7.2 7.1 69 7.4
%l D O mg/ 0 19 1} 8.8 14 1 1 9.9 88 9.2 13 1}l 10
iHB O Dimg/l 1.7 7 09 34 2 3. 1.3 1.3 0.8 0.7 <0.5 0.5
BC O Djmg/® 28 28 24 484 2.4 3.4 24 20 L 1.B 1.0 1.8
tfd S S| g/ 9 4 3 1 B y. <] 3 1 <] 3l < p,
I K bR W2 8] MeN/100md 22807 2.3801] 7.9E01 0.7€01] 1.6E05 2.0802 1.1803 1.380 4.9601] 3.3801] 1.3€07 3.5€02
H n~Hex mg/

& & o/l 0.8 o0.54 1.0 1.23 1.14 .29 1.04 0.9 0.87 0.44 1.07

& ¥ omg/ R 0.01§ 0.012 0.017 0.037 0.028 0.025. 0.014 0.0t 0.011] 0.008 0.013

T /=L {me/ R '

§H mg/ § <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
o $0 mg/ 2 <0.01 <0.01 <0.01 <0,01 <0,01 <0.01

$EC 5 B HE Y mg/ <0.1 <0.1 <0.1 <01 <0.1 " <0.1
| T (EERREE) mes 9 <0.05 <0.0Y <0.05 <0.05 0.05 <0.05
WMy o bLleg/d <0.01 <0.01 <0.0! <0.0} <0.01 <0.01

70w Hm/d <0.19 <0.15 <0. 15 <0.15 <).15 <0.15

TURT {2 B me/ g <0.01] <0.01 <0.0i] <0.01 <0.01 <0.0]| 0.030 0.020 0.0200 0.050 - <0.01
TH| ERRE R 3| ng/ 0 0.003 0.00§ 0.00§ 0.010 0.004 0.009 0.004 0.003 0.003 0.004 0.003

R R el 0:554 0.329 0.93§ 0.745 0.79 0.940 0.708 0.727 0.766 0.362 0.907

OB R e/ 0.004 <0.003 0.007 0.0200 0.009 - 0.010| 0.008 0.004. 0.01G 0.003 <0.003
BA B Slms? 0.03 0.02 <0.0% <0.02 © 0.02 0.05

¥ B F uSiem 67.4 75.94 78.8 B81.9 B4.8 79.9 94.3 85.4 81.8§ 10§ 25.9 74.8

i B mg/ § <g- <5 - <§ <3 <4 < < < <§ <3 <3

|EE A4 X Yne/d 2.4 3§ 3.5 3.8 40 3.4 3.4 3.4 24 3.3 1.0 3.
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